PROFESSIONAL EXAMINATION BOARD

Group-2(Sub Group -4) Labour Inspector and other equivalent post
Recruitment Test

8th January 2017, 02:00 PM
Topic:- General Science

1)
Question Stimulus :-

CANCELLED

The ash obtained by burning magnesium ribbon is Magnesium oxide which when dissolved in water & tested is

found to possess/ﬁ?ﬂﬁﬂﬂﬁﬂqﬁﬁﬂﬁwmmﬁwmamqﬁﬁm\?vﬁ?
T&IT HA R I T4 b 3 it @

« Acidic nature / 3T UHfd
« Basic nature / &g Upfa

« Basic nature / &1 UPpfd
« Both acidic & basic nature / g1, 3= 3R &g upfa

Correct Answer :-Basic nature / T4 Wﬁ[

2)
Question Stimulus :-

The microbe that reproduces only inside the body of the host organism is / al JeH Sig St URUTYl oftg & IR &
3R & ST PR §, FEA §

« Bacteria /STy
e Fungi/ ®ded
« Protozoa / Wielsitaf
e Virus /dIgd
Correct Answer :-Virus / dIgxd
3)
Question Stimulus :-
Rust is an oxide of / ST, BT Gﬁ?\‘lﬁg %
e Lead /TS

« Copper/ IR

. Iron/?ﬂET
e Tin/f&9



Correct Answer :-Iron /?ﬁ?T
4)
Question Stimulus :-

Tremors are caused by the disturbance deep down inside the / & i eI H,
faey b SR YU & Fed HeYH 54 o1 &

¢ Crust of the earth/ ‘l;[clﬂ'cpr
« Mantle of the earth/ tRdl & UAR
« Outer core of the earth /74l & 1< IR
e Inner core of the earth /qvﬁ & fiadt sk
Correct Answer :-Crust of the earth / YUuudl
S)
Question Stimulus :-

The temperature of hot milk can be measured using a /ﬁ@%ﬂﬂﬁﬂﬁmmm
HTUT ST Gl @

e Clinical thermometer / Sida™! YHTHIER

¢ Maximum and minimum thermometerlméﬁ'\’w iR

e Laboratory thermometer / STARTRITET um‘:ﬂzv

¢ Both clinical thermometer and laboratory thermometer / Sigedt 3R yaT=ITeT YHiHer Y
Correct Answer :-Laboratory thermometer / TARTRITET YHiHeR
6)
Question Stimulus :-

Expand MCB / THiIS! &1 favwgqa &%
e Miniature circuit board / WW A

e Miniature circuit breaker/ﬁF-ﬁ'Eﬂ?'\‘lﬁTc’aT{

« Magnetic circuit board / #3fe® Afhe NS

e Magnetic circuit breaker / Adfe® Afhe =
Correct Answer :-Miniature circuit breaker / f-u=R dfde d&w
7
Question Stimulus :-

Humus refers to / §HY, 39 UeRid #earg



Large particles of soil / §JaI %EI%W

Dark coloured organic matter in topsoil /mwﬁ@iﬂﬁaﬂmﬁ

Small particles of soil /W%@%W

Particles of sand, silt and soil /W, maﬁqur%w

Correct Answer :-Dark coloured organic matter in topsoil / UL HETﬁ'TrE:{?"lTEFT s ard
8)

Question Stimulus :-

Rainwater can be used to recharge the ground water. This is referred to as / qui o &1 m Y-Glet Cg 'ﬂq'l-h'UT

R fPaTaea? I sAPea E -
e Water harnessing / \_ﬂﬁaﬁ

Water harvesting / 5T J<94

Water saving / -l 1 g9d

 Water recharging / Scel : 3Ta=H
Correct Answer :-Water harvesting / 5Td Ja94
9)
Question Stimulus :-

In the middle ear, the vibrations are amplified by the three bones namely the / H BT H &ua &9 3'%'0.1 I

uRaféd g¥d ¢, forer T 21

hammer, anvil and stirrup /%‘FI'\', qqﬁa, ez
hammer, anvil and pinna / %%, a4, fUam
hammer, cochlea and stirrup /%‘FR', aﬁwﬂar, ey
auditory bone, anvil and stirrup / Sﬁ'@ﬂ 3-17{, E:Iﬁﬁ, W

Correct Answer :-hammer, anvil and stirrup /%‘FR, Qqﬁﬁ, =y

10)
Question Stimulus :-

The change in shape in amoeba which facilitates movement is due to / SHiaT # TR HT TG o D! T |
HETAS i1 3, $TIRU

e Tentacles / WXiP
« Cilia /fafemn
e Flagellum / SRMUST

e Pseudopodia / UIqIH



Correct Answer :-Pseudopodia / UTgI'H
11)
Question Stimulus :-

During fractional distillation of petroleum, the vapours with the lowest boiling point condense / ﬁ@ﬁnm &

3RIP TG & SR, I RFAST HYFTS TYaH 3, TId Bl 3
e In the upper most part of the fractionating tower / PRI~ TR & I HU U A
e In the lower part of the fractionating tower / == erar & fome wrT o
e In the middle part of the fractionating tower / Ha=IfT TR & S & HFTH
e Obtained as the residue at the bottom of the tower / €TaR & -1 AR & & H U

Correct Answer :-In the upper most part of the fractionating tower / BRI eTaR & TaH HUWT YT
H

12)
Question Stimulus :-

Identify which of the following is not a forest produce? /%ﬂﬁﬁﬁ?ﬁﬁwmﬁﬂﬁ

2

Wood / dHs!

Sealing wax / drd

Salt /H®

Honey / Rgq
Correct Answer :-Salt / TH®
13)

Question Stimulus :-

A match-stick is rubbed on the side of the matchbox that has powdered glass & a little red phosphorus on it. The

first reaction that takes place ls/wmﬁvaﬁ?ﬂ?ﬁaﬁwmaﬁwga %ﬁé’rmﬁmﬁm‘mﬁwaﬁ
A1 ¥ o W TwreT &I 31 39 R ot ugelt sifufsar gt

e Red phosphorus gets converted to white phosphorus. / €T¢T WW, Tlhe BRWRY | gRkafdd g smar
gl

« White phosphorus gets ignited. / ¢ BTG Ysdferd gl SITdT g

¢ Red Phosphorus reacts with antimony tri sulphide. / €IT¢l BTEPRY Q’ﬁ'ﬂ*ﬁ g‘r-.% ma? Ty ffesar
FRAT G|

¢ Red Phosphorus reacts with potassium chlorate. / T BTERIRY, Uy Fike &
a1y Srfuferar war 81

Correct Answer :-Red phosphorus gets converted to white phosphorus. / Tel WW, e BIEpRY |
uftafdd gt ST g |



14)
Question Stimulus :-

The increase in temperature on the earth disturbs the water cycle & reduces rainfall, causing / q%ﬁ WR, dIYHA |

gf3 oId I 1 qHIfad Sl @ o #9 auf gidt 8, o P HHIGT giell B

e Droughts /@

« Desertification / do¥
« Deforestation / gHI=g@
e Floods / d¢
Correct Answer :-Droughts /'\‘]\@
15)
Question Stimulus :-
Identify the chemical present in window cleaner / st wiix o Iﬁq\ﬂ' AT &I 'CIF?IﬁI
« Sodium hydroxide / Gif$TH grsgiwSS
e Lime water/ij?raﬂq'F-ﬁ
e AmMmonium hydroxidelmﬁﬂﬁgﬁﬁ'ﬂ'\qﬁg
e Magnesium hydroxide / ﬁﬁﬁmsmsﬁaﬁs
Correct Answer :-Ammonium hydroxide / 3®If~aH E’I’s‘@ﬁ'\‘lﬁ%’
16)

Question Stimulus :-

When a person swims under water, water pressure is felt acting on the person's eardrums. The pressure is due to /

W9 TP R Uit & aRar @ o U BT ga1d safet & &l Ueg IR Wegd f5a1 ren 31 339 919 &1 HRUIE

Less water above the person / TG & SHUR HH U1
Large surface area of the swimmer/ﬁW%Q‘ﬂTﬂ WWE@T@T-IT

Weight of the water above the person / Aft & FHW UL BT HUR

Volume of water / UT<l &7 3Ad

Correct Answer :-Weight of the water above the person | T & HW U BT UIR

17)

Question Stimulus :-

A ball rolling on the ground slows down and finally stops because / THH W @Tcﬂ g it ?f Gl % 3R 3id A
P ST § FifD



There is no friction between the ground & the ball / 59 3R i & §i s gfor T 21

There is friction between the ground & the ball / SIHIF 3R ¢ & §= gur g1

The force of friction does not oppose the motion/‘EI'EfUTa?'[W, %%Wﬂﬁﬁﬂqﬁ
Dl

The force of friction acts in the same direction of motion/ﬂ'ﬂfwmaﬁ,ﬂﬁfa?mw
A s Hear g

Correct Answer :-There is friction between the ground & the ball / ST 3R Ag & §i= afur g

18)
Question Stimulus :-
The axis of rotation of the Earth is not perpendicular to the plane of its orbit. This tilt is responsible for. / 'q?ff Gl

YU 38, TP F&T & a0 R Gaad 161 ¢ | & PP & forg frier 81

Change of seasons on the earth /qzaﬂuvﬁw%?aaaﬁ

Phases of the moon / IGHT & TRUN
Formation of rainfall / 99 & o+
Melting of glaciers. / TARRRT & fUae=

Correct Answer :-Change of seasons on the earth / 33l R MI¥H & dga

19)
Question Stimulus :-
A magnifying glass is a / e A= gaT 8
e Convex mirror / 3cd gUUl
e Concave lens/ 3@dd =
e Convex lens / S@d a4
e Plane mirror /G9dd gUul
Correct Answer :-Convex lens / 3&d a1
20)
Question Stimulus :-
We enjoy sipping hot coffee during winter because / TH Tfdal # IR Fiwt TH1 v Fd % e
o Coffee tastes better in winter/ EF‘I"CIﬂ, '\‘Iﬁfﬁ s GI'&EFET%QWF‘T %
e Heat flows from hot coffee into our body making us feel warm / IRH CIUIRE R E'Hﬁ' TRR A ST

warfed gidl 8 forad f &0 wif reg@ gt @
« Heat flows from our body to the coffee /W,Bﬁﬁi’l’ﬂ?ﬁﬁ'qﬁﬁmﬁ?ﬁ%



* Heat flows from hot coffee to our body making us feel cool / I, TIRH CaLdk:|
TR TR ¥ yare gidi 8 o g s uegu el &

Correct Answer :-Heat flows from hot coffee into our body making us feel warm / TRH CIUARIEE:] Fqﬁ'

TRR A HOAT yaried gt @ o i e i e et @
21)
Question Stimulus :-

Children of Delhi are keen to contribute to reduce air pollution. Which vehicle should they use to

commute to school? / fGT & T ATg UGWUT B HH H & AT AGH 37 & ISP 8 | 3¢ @
3T & T {5 arg= &1 SxAUTe HIAT A1MRT?

Public transport CNG Bus / ufer® g‘lwﬁ'é Aol a9

Auto rickshaw / 3ifet fya=m

Car /®R

Scooter / ¥pcY

Correct Answer :-Public transport CNG Bus / uftTd g‘mﬁ‘é‘ el a9

22)

Question Stimulus :-

Identify the organism that breathes through its skin / 39 Siid & Ug=™ S 30 &= A 439
FIAT R

. Earthworm/a'ﬂaﬂ

e Fish/HX

e Dog /Pl

o Cat/faeett
Correct Answer :-Earthworm /harr
23)

Question Stimulus :-

Few drops of lodine solution when added to an aqueous solution of cooked rice turns blue black. This indicates that
rice contains. / TP G ATTA H TS $1 $© g¢ fHaM W 1, a1 H1a1 g1 oIrar ¢ | 98 i1 ¢ & araa &
A g

« Proteins / WéA

e Vitamins / fdeTfm

« Minerals / @fe ugrd

e Starch /%™



Correct Answer :-Starch / 3eTd
24)
Question Stimulus :-
Identify the INCORRECT statement about rust. / ST & R A Tdd HYF B qﬁlﬁ?ﬁ I
¢ Rust and iron have the same composition. / ST 3R ?ﬁ% A I UCH ﬁa %I
e Rust is not iron. / ST, ?ﬁFT qﬁ%l
« Rusting is a chemical change. / ST @I, IATA{~® Ufad 2|
« Rusting is a kind of oxidation. / ST T & g Bl &ﬁ'ﬂ“\‘ﬂWUT%I
Correct Answer :-Rust and iron have the same composition. / ST \’rﬁ? ?ﬁ% ﬁWW eﬁ %I
25)
Question Stimulus :-

Eyes of the nocturnal animals have large cornea & a large pupil. This structure help them / AR oiial BT 3@l

P PR YA TS N 81 STWIATAST A Hce et g |
e To increase their field of vision /ﬁ%ﬁﬁﬁq@
« To rotate their eyes at 360° / 3Tt 31T Bt 360° F g

e To activate rod cells with virtually no color vision /ﬁ%’ﬁﬁﬁmﬁﬁ, o
P T 5! gl

« To activate cone cells for more availability of light / T&T=I & 3ift® Iusudr & ferw
P BIRABIA DI Afehd B

Correct Answer :-To increase their field of vision /¥ & &7 d i3

Topic:- General Hindi
1)

Question Stimulus :-
ARSI pa aral & o o Naa A & e #1991 faivor 3eg 3fRa T8 @ -
. IR
. T
. T8
. 3
Correct Answer :-3{To
2)

Question Stimulus :-



Fraer & waigard e & -
Correct Answer :-RRUR, W, fug
3)

Question Stimulus :-

frafafed faeed § 9 «ArST 999 arer & e o9 91 faer adi 8 2

Correct Answer :-3{¢U3l
4)
Question Stimulus :-

S Y BT gATd N |

Correct Answer :-GITi
S)
Question Stimulus :-
TP B efY A Y AR R -
« TE UT6 U} Urey e & fomm g1
« g UTS BHTY UTey YA § forar mar @1
o 95 urs fran man § §HRl Urod g ¥ |
. TURY Ty G&® | g ure forar man B



Correct Answer :-9g Uld m Urey Ydd 3 forar man %I
6)
Question Stimulus :-
“STEr BT Tgigar ¢ -
o 3fcdl
o 3rft
o €
o T
Correct Answer :-3[€dl
7)
Question Stimulus :-

Pt ugd WS TR U BT IR ! 31 R I fawy A grg fea & fore ferar S a1 uA wgarar @ -

Correct Answer :-3JHRP
8)
Question Stimulus :-

CANCELLED
HY PT gATgart T8 5-
e Had
. G
e WIW
o SR
Correct Answer :-Hg
9

Question Stimulus :-

i § Ui 2 -



4 5

3 A

Correct Answer :-Uf¥

10)

Question Stimulus :-

«grdl” ad STl ga Ygrar o1 .1 A §
. afal & - Srelt qaTHR T

EAKC AR

o 3NYF gHE HAT

« TEA TR B
Correct Answer :-3T¥d Y&he BT
11)
Question Stimulus :-
wfeed Teg A I |1 ST wgEE 2
o ufa
.« ai¥
e W
e ¥
Correct Answer :-9fd
12)
Question Stimulus :-
HUT RIeg BT faard g -
o YT
o 3HTY
o DU
. g

Correct Answer :-§1-I'i1'q



13)
Question Stimulus :-

frad A Jov I HT AT ?

Correct Answer :-WTH@
14)

Question Stimulus :-

3 & MR W Fr=fafad arey &1 Ye 9a139 - aT8! T TIPHT HIRT B
o Uagdra®
o e stus
o TOMATAD
o HPbaarad
Correct Answer :-fararfe Stu®
15)
Question Stimulus :-
WRdTY 2reg § 9o Yad ¢ -
. 3
. 3
. g
-
Correct Answer ;-89
16)
Question Stimulus :-
S BT TH AL § -
. TG

A4

e PIY



o fo=m

o ST
Correct Answer :-f&=IT
17)

Question Stimulus :-

CANCELLED
P T Vet “Vfe5Pp> T faei e =81 8 -

Correct Answer :-37f~rard
18)
Question Stimulus :-
TerTera ¥ T 2 -

o dey

o rgdtUTa

. %8

. TEf
Correct Answer :-acqo¥
19)
Question Stimulus :-
= o A fpa 3 ¥ srqar &1 wa far w82

T8

. 77
o gl
. Tiq
Correct Answer :-7Gl

20)



Question Stimulus :-
R H THTH B-
- fom
. PHYRY
- ggilifs
o JFTUTT
Correct Answer :-3{STdTHTT
21)
Question Stimulus :-
ygaea dfea @@
 Sgau
o THadd
o «@” 3R «@= g
« THAPE 7L
Correct Answer :-U®ad
22)
Question Stimulus :-
7% 3R, orfde - A Rgg=< FA A W@
o SUHT PR
o JHSP ATUAPR
o IJUTH AP
o TUFH AP
Correct Answer :-3UHT [@PIR
23)
Question Stimulus :-
98 DI A1 XA ¢ S UTHT B Y, AT 7Y YSH B 39 a1 GugH, Ug- g fora= aivg s9ma1 82
o THRUI

o HTUT



. fafa

o drell
Correct Answer :-dTh0[
24)

Question Stimulus :-

it X1 fariwor sryar fpar-fagiuor 5t fasiwar qaarg, S8 w1 o8d 82
. fa==
o wfaRyor
o gf¥HTUEaTTS faivor
o FTAATRYS fa=iwor
Correct Answer :-Hfa=Igor
25)
Question Stimulus :-
<3fferard &1 faudtarde e garsa |
. aifgfe
. Bl
o G
. gy
Correct Answer :-d®cid

Topic:- General Mathematics

1)
Question Stimulus :-

If S is subtracted from each of the two given numbers, then their ratio is 5 : 11. The mathematical representation of

the above statement is/uﬁﬂﬁamﬁﬁ,mﬁsmaﬁ,wmaﬂmsm ?l?lT%l SR
JFAH BT 0T =TI g

11x - 5y =30

1x + 5y =25

11x -55=5y + 25

11x = 25y - 55
Correct Answer :-11x - 5y =30

2)



Question Stimulus :-
The mean of prime numbers between 10 and 40 is / 10 3T 40 F a1 P srHTST =TSN BT HTEH %
20
e 225
e 285
o 24
Correct Answer :-22.5
3)

Question Stimulus :-

Side QR of A PQR is produced to 'S'. The bisector of 2P meets QRin 'T'. If
£PTR =x then 2/PRS + 2Q intermsof ‘¥’ is / A PQR &l #Hal QR 'S

&7 fAA0T FEr §1 2P &7 THEANEF, QR & T' 9 fRedr §1 of
(PTR=x, dd X' & Ug) & +PRS+.Q b :

o 4x

e 2x

e X

e 3x
Correct Answer :-2x
4)
Question Stimulus :-

If a=2 and b=1 thenthevalueof (a 2+ b 2)2 = /| Al a=20d b=
1%, @ (a 2+ b~2)2 & A =

12
15

21
20



Correct Answer :-
5)
Question Stimulus :-

Which of the following is a factor of p(x) = 2x° - 3x* - x + 4/ I H & p(x) = 2x° - 3x% — x + 4 BT U TS

AT

e x+1

e x+2
Correct Answer :-x + 1
6)
Question Stimulus :-

The radius of a sphere is one fourth of the radius of another sphere, then their respective surface areas are in

the raﬁ%wrﬁﬁﬁﬁw,wmﬁﬁaﬂﬁmﬁwiﬁuﬁ%l 3(d: HHTT: $9P YSIT &% d &I
SJUld &:

e 16:1

Correct Answer :-1: 16
7

Question Stimulus :-

The perimeter of an isosceles trangle 1s 24cm. If its base is % times each of

the equal sides, then its areais /| U THG aHFEJ aﬁia & IHHT 24THT
= 2

g1 I 3T I, WWWHE AT &, Al 3HH GG b

9/ 3em/ 943 TAT
124Zcm /1242 T4

18y Zcm /182 THT



18y 3cm/ 183 T

18y 2em / 182 GHT
Correct Answer :-

8)
Question Stimulus :-

The dimension of a rectangular box is 144cm x 180cm x 192cm. The longest rod, which can measure the length,
breadth and height of the box exactly, is/ T TIATPR ST BT AT 1443 x 180T x 1923H 31 T
wdl 98 IS, O g I FA1S, ASTs U HATS Bl SIP-31P HIU P! 8, ITP| aHTS a5y

e 6cm /6 JHT

e 24cm /24 QY

e 12cm/ 12 9

e 14cm /14 ¥
Correct Answer :-12cm / 12 GHt
9)
Question Stimulus :-

The 3" term of an A.P is 28 and the 11™ term is 12 more than the 7 term. Find the 20th term. / TP JHIIR

3MRIBUN BT FHRT (3') Ug, 28 TF 11a1 UG, 7d US A 12 3f g1 20aT U FTd B |
e 79
e 62
e 86
e 89

Correct Answer :-79

10)

Question Stimulus :-

Ina cvclic quadrilateral PQRS, if PQ||RS and #P =857 then £Q =/ Th

I IE PQRS A, AT PQ|RS 3N P =85° dl«Q=
e 85°
e 95°
e 105°
o 75°

Correct Answer :-85°



11)
Question Stimulus :-

The surface area of two spheres are in the ratio 9 : 16. Then ratio of their volumes is /a Tﬁ?ﬁﬁ' a?qé’rq

SFEE BT AU 9 : 16 § 1 I AT BT JUTd &
o 27:064
e 27:48
e 81:064
e 81:256
Correct Answer :-27 : 64
12)
Question Stimulus :-

CANCELLED

Segment OD is perpendicular to the chord AB of a circle with centre 'O' and BC is the diameter. If OD = 13cm ,
then AC =/ ‘0’ %% 910l U g6 & °TY AB IR WS OD A9 ¢ T4 BC A 3| e op = 13 A, a9 AC =

18cm / 18 THT
15cm / 15 THt
26em / 26 QY
39cm / 39 At

Correct Answer :-26¢cm / 26 Q'Fﬁ

13)

Question Stimulus :-

Determine the equation of the line in the adjcining graph
| o HIE # [@T & THEOT g fiiee

Y




e x=y+3
Correct Answer :-x =3
14)

Question Stimulus :-

A person moves either 1 unit in the direction of negative x-axis or 1 unit in the direction of positive y-axis per step.
Find the minimum number of steps he requires to reach P (-8, 2) starting from the origin. / Y HJHN, ufa =T

BUTED x-31&f P1 TG H 1 TS Tera o A1 TR YT y-3181 31 faxn & 1 so18 Torar o1 4o g A Y=
PP P (-8, 2) W Ugd & [ ST GRT I a1 ~gAqH G0N $1 H&AT w1

e 6

e 10

e 16

e 8
Correct Answer :-10
15)
Question Stimulus :-

The perimeter of a semicircular instrument, whose radius is 14 cm, is / T 3 Eh?ﬂ?r\" 93 F1 qﬁmtra?ﬂ'{lz,
et s 14 3 2

e 84 cm /84 TH
e 72cm/72 9H
e 68cm/ 68 THI
e 76 cm /76 THI
Correct Answer :-72 cm / 72 9H1
16)
Question Stimulus :-
In the second quadrant the coordinates of p (x, y) are / W il?j"’-lﬁT ﬁ, p(x,y) %ﬁ%ﬂlﬁ%
e x>0, y < 0
e x<0,y<0
e x<0,y>0
e x>0,y>0
Correct Answer :-x<0,y>0
17)

Question Stimulus :-



What is the length of longest rod that can be kept in a rectangular box of dimensions 12cm x 6cm x 4cm? is /

Wagﬁﬁs"r,ﬁrﬁ1zﬁtﬁx6ﬁtﬁx4ﬁtﬁm%wwaﬁﬁwmmiaﬁm
T BY?

8/ 1dem / 8414 AT

14cm / 14 T

T 26cm /| TW26 GHT

16cm / 16 AHY

Correct Answer :-14cm / 14 SH}

18)
Question Stimulus :-

If points (2a. 0), (0. 2b) and (4 . 4) are collinear, theni —%: / g g (2a.
0),(0.26) 3R (4,4) TG & ar 1+21=

b |

|

1
Correct Answer :- 2

19)
Question Stimulus :-
The points A3, 2) , B(6, 2), C(5, 4) and D(4 , 4) are the vertices of a trapezium marked on a graph. If the
trapezium is moved 4 squares to the left and 5 squares up , then the coordinates of new position of points A' and
C' respectively of the trapezium A'B'C'D' are / ﬁg AGB,2),B6,2),C5,49Td D4,4), Td UTh IR 3ifed

U JHEd & XY &1 afe aveia 4 o 91 iR vd 5 o SuR F1 3R AT faan Sar 8, 99 999 A'B'C'D' &
g A Td ¢ ¥ 73 g & =N wumn: §

e (0,6),(5,1
e (-1,7), (1,9
e (-2,4),(-1,8)
e (-1,5),(2,8)

Correct Answer :-(-1,7), (1,9)



20)
Question Stimulus :-

In a circle of radius 6 cm, an arc PQ subtends an angle of 60" at the center of a circle. Then the length of the
arc is / 6 AHY FIAT 910 TP g9 A, 60° F HUT 16T TH A9 PQ, §d & b W S gar 81 99 39 A1y

2mcm 'Eﬁﬂ?ﬂ

7 em/ mEHED

3rrcm-3n'\eﬁ:ﬁ

ﬁﬁcm-ﬁﬁﬂﬂ:ﬁ'

2mcm 'Ei'r'\':l?ﬂ
Correct Answer :-
21)

Question Stimulus :-

The equation which passes through the origin is / dg ﬂTﬁWUT, kil Hd ﬁrg I Eﬁﬂ’_{ oI %:

e x=3y

e X+6=0
e x+y=1
e y+2=6

Correct Answer :-x =3y
22)
Question Stimulus :-

CANCELLED



Three coins are tossed simultaneously 100 times. The frequencies of different

outcomes are given below. / e T 100 9 U 9= 30T IH|
Tafeest gomHT & aRaERaT AL o 715 £

No
Outcome [
Head @15 | 1Head 1909 | 1Head 1909 | 3Heads 390
{ ofid gt
Frequency /
qfl ] 7 33 32 28
AR

The probability of getting atleast two Heads is /| &F T &H o sfraf &
3= b wiEEaT &

3
o

| e

Correct Answer :-

23)

LA w

Question Stimulus :-

Surface area of a sphere is 28cm?. If the sphere is divided into two hemispheres, then the total surface area of

one of the hemispheres is/wﬁﬁmq@'ﬂmzsﬁtﬁz%l trl%sﬁfﬁﬁaﬁaﬁal@ﬁ?ﬁﬁﬁmﬁﬁ

fFaT WY, a9 U S &1 oot gt &% d 8:
o 35cm? /35 G2
o 27 cm? /27 T2
o 29 cm? /29 {2

e 21cm? /21 THE2

Correct Answer :-21cm? / 21 9|2

24)

Question Stimulus :-




The zero of the polynomial f(x) = cx-dx +p( wherec= 0and d = 0)is /
IEUG f(x) =cx-dx+p F YA (Folc= 0Tdd #0) B

ol
d—¢
Correct Answer :-

25)
Question Stimulus :-

The point which doesn't lie on the circle, with centre O (5, 2) and radius 5cm, is / g ﬁ‘g’, Ell h 0G6,2) t-','a

PemsAfiadgmwR RaE T8 g

8,06

@3,-2)

2,-2)

('2 ’ 2)
Correct Answer :-(-2, 2)

Topic:- General English
1))

Question Stimulus :-
Choose the option that best fills in to complete the given sentence::

Jane is never satisfied. She

e shall always complain
e will always complain
e always complained

e is always complaining

Correct Answer :-is always complaining



2)
Question Stimulus :-
Choose the appropriate option that fills in the given sentence correctly:
you have come to office, you may as well complete the backlog.
e And
e But

e Since

For instance
Correct Answer :-Since
3)
Question Stimulus :-
Choose the option that best transforms the sentence into its Direct / Indirect form:
‘What country do you come from?’ said the police officer.
e The police officer asked me from what country I came from.
e The police officer asked what country I came from.
e The police officer wanted to know what country I am coming from.
e The police officer asked me what country did I came from.
Correct Answer :-The police officer asked what country I came from.
4)
Question Stimulus :-

Read the sentence carefully and choose the option that has an error in it:

It is more difficult to predict the results of this election by the previous one.
e It is more difficult
e to predict the results
e of this election
e by the previous one.
Correct Answer :-by the previous one.
S)
Question Stimulus :-

Choose the option that best punctuates the given sentence:



Hands up this is a hold up
e 'Hands up! This is a hold-up.'
e 'Hands up, this is a hold up.’
e 'Hands up - this, is a hold-up.
e Hand’s up! This is a hold up!
Correct Answer :-'Hands up! This is a hold-up.’
6)
Question Stimulus :-

Choose the option that best transforms the given sentence without changing its meaning:

This is the camera. I took the pictures of the party with it.
e This is the camera through which I took the pictures of the party.
e This is the camera into which I took the pictures of the party.
e This is the camera with which I took the pictures of the party.
e This is the camera in which I took the pictures of the party.
Correct Answer :-This is the camera with which I took the pictures of the party.
7
Question Stimulus :-
Choose the option that best fills in to complete the given sentence::
Most children to speak by the age of three.
e are learning
e learn
e learns
e Jearned
Correct Answer :-learn
8)
Question Stimulus :-
Choose the option that best transforms the sentence into its Direct / Indirect form:
Can the children get tasty meals at school?

e [ asked if the children can be getting tasty meals at school.



e I asked if the children could get tasty meals at school?
e [ asked if the children can they get tasty meals at school?
e | asked if the children could get tasty meals at school.
Correct Answer :-I asked if the children could get tasty meals at school.
9)
Question Stimulus :-
Choose the appropriate option that fills in the given sentence correctly:
While the firm was the process of fitting the machinery, the entire plant was shut down
e into
e in
* on
e onto
Correct Answer :-in
10)
Question Stimulus :-
Choose the appropriate option that fills in the given sentence correctly:
The files are the alphabetical order, so don't meddle them.
e into, around
e from, in
e by, through
e in, with
Correct Answer :-in, with
11)
Question Stimulus :-

Choose the most suitable determiner for the given sentence:

The old man had heart attack this morning.
e less
* many
e another

® some



Correct Answer :-another
12)
Question Stimulus :-
Choose the option that best transforms the sentence into its other voice:
We enclose payment with our order.

e Our payment was enclosed with our order.

e Payment is enclosed with our order.

e Payment is enclosed with our order by us

e Payment is being enclosed with our order.
Correct Answer :-Payment is enclosed with our order.
13)
Question Stimulus :-

Read the sentence carefully and choose the option that has an error in it:

Deepa and Rani love chocolates but their brothers does not like them.
e Deepa and Rani love chocolates
e but their brothers
e does not like them.
e No error
Correct Answer :-does not like them.
14)
Question Stimulus :-
Choose the option that best transforms the given sentence as directed:
They had finished their dinner. They went to bed.
(Combine the two sentences into one sentence)
e No sooner did they finish their dinner then they went to bed.
e As soon as they had finished their dinner, they went to bed.
e Before finishing their dinner they went to bed.
e No sooner they finish their dinner they went to bed.

Correct Answer :-As soon as they had finished their dinner, they went to bed.

15)



Question Stimulus :-

Choose the option that is closest in meaning to the highlighted word in the given sentence:

We delicately tried our best to spread our business in all the states of our nation.
e carefully
e diplomatically
e desperately
e cunningly
Correct Answer :-carefully
16)
Question Stimulus :-

Complete the sentence choosing the right form of Prefix:

If he doesn't mend his ways, I'm sure his parents will own him.
e de-
® mis-
e dis-
e re-
Correct Answer :-dis-
17)
Question Stimulus :-
Choose the appropriate option that fills in the given sentence correctly:
You may borrow my bicycle you are careful with it.
e even if
e as long as
e as much as
e excepting
Correct Answer :-as long as
18)

Question Stimulus :-



Choose the correct form of verb that is in agreement with the subject:

Economics an interesting subject.
® are
e is
e are being
e is being
Correct Answer :-is
19)
Question Stimulus :-

Choose the option that best punctuates the given sentence:

We decided to visit Spain Greece Portugal and Italys mountains

e We decided to visit: Spain, Greece, Portugal and Italy's mountains.

e We decided to visit Spain, Greece, Portugal and Italys mountains.

e We decided to visit Spain, Greece, Portugal and Italy's mountains.

e We decided to visit Spain Greece Portugal and Italys’ mountain’s.
Correct Answer :-We decided to visit Spain, Greece, Portugal and Italy's mountains.
20)

Question Stimulus :-
Choose the option that best transforms the sentence into its other voice:
Somebody has driven the lorry off the road.

e The lorry has been driven off the road by someone.

e The lorry was driven off the road.

e The lorry has been driven off the road by somebody.

e Somebody has had the lorry been driven off the road.

Correct Answer :-The lorry has been driven off the road by somebody.

Topic:- RC_General English
1))

Question Stimulus :-

Read the following passage and answer the question given below:



Arthritis sufferers swear by glucosamine for pain relief. Now, a small study by doctors at Nizam’s
Institute of Medical Science, Hyderabad, suggests that glucosamine, a substance found in cartilage,
may offer even more relief if it’s taken with methylsulfonylmethane (MSM), a sulphur thought to block
inflammation.

Doctors put 118 people with osteoarthritis of the knee into four groups. Patients took glucosamine,
MSM, both, or a placebo for 12 weeks. The glucosamine and MSM cut pain and swelling on their own,
but the combo was even more effective.

While the study is intriguing, more research is needed, says American rheumatologist Daniel Furst,
who’s participating in the largest glucosamine trial to date (results are expected soon).

Doctors aren’t sure how either supplement works, but say they may help preserve cartilage.

How do arthritis medicines work?
e By preventing inflammation.
e By preventing cartilage.
e By blocking inflammation and preserving cartilage.
e By promoting lubrication at the joints.
Correct Answer :-By blocking inflammation and preserving cartilage.
2)
Question Stimulus :-

Read the following passage and answer the question given below:

Arthritis sufferers swear by glucosamine for pain relief. Now, a small study by doctors at Nizam’s Institute of
Medical Science, Hyderabad, suggests that glucosamine, a substance found in cartilage, may offer even more relief
if it’s taken with methylsulfonylmethane (MSM), a sulphur thought to block inflammation.

Doctors put 118 people with osteoarthritis of the knee into four groups. Patients took glucosamine, MSM, both, or
a placebo for 12 weeks. The glucosamine and MSM cut pain and swelling on their own, but the combo was even
more effective.

While the study is intriguing, more research is needed, says American rheumatologist Daniel Furst, who’s
participating in the largest glucosamine trial to date (results are expected soon).

Doctors aren’t sure how either supplement works, but say they may help preserve cartilage.

Which part of the body does arthritis affect?
e Legs.
e Arms.
e Shoulders.
e Joints.

Correct Answer :-Joints.

3)



Question Stimulus :-

Read the following passage and answer the question given below:

Arthritis sufferers swear by glucosamine for pain relief. Now, a small study by doctors at Nizam’s Institute of
Medical Science, Hyderabad, suggests that glucosamine, a substance found in cartilage, may offer even more relief
if it’s taken with methylsulfonylmethane (MSM), a sulphur thought to block inflammation.

Doctors put 118 people with osteoarthritis of the knee into four groups. Patients took glucosamine, MSM, both, or
a placebo for 12 weeks. The glucosamine and MSM cut pain and swelling on their own, but the combo was even

more effective.

While the study is intriguing, more research is needed, says American rheumatologist Daniel Furst, who’s
participating in the largest glucosamine trial to date (results are expected soon).

Doctors aren’t sure how either supplement works, but say they may help preserve cartilage.

What does ‘placebo’ mean?
e A suitable drug
e A suitable supplement
e A suitable tranquilizer
e A suitable pseudo-medicine
Correct Answer :-A suitable pseudo-medicine
4)
Question Stimulus :-

Read the following passage and answer the question given below:

Arthritis sufferers swear by glucosamine for pain relief. Now, a small study by doctors at Nizam’s Institute of
Medical Science, Hyderabad, suggests that glucosamine, a substance found in cartilage, may offer even more relief
if it’s taken with methylsulfonylmethane (MSM), a sulphur thought to block inflammation.

Doctors put 118 people with osteoarthritis of the knee into four groups. Patients took glucosamine, MSM, both, or
a placebo for 12 weeks. The glucosamine and MSM cut pain and swelling on their own, but the combo was even
more effective.

While the study is intriguing, more research is needed, says American rheumatologist Daniel Furst, who’s
participating in the largest glucosamine trial to date (results are expected soon).

Doctors aren’t sure how either supplement works, but say they may help preserve cartilage.

What is the function of methylsulfonylmethane (MSM)?
e Providing pain relief.
e Providing a reduction in inflammation.
e Providing a means to block inflammation.
e Providing further damage to cartilage.

Correct Answer :-Providing a means to block inflammation.

)



Question Stimulus :-

Read the following passage and answer the question given below:

Arthritis sufferers swear by glucosamine for pain relief. Now, a small study by doctors at Nizam’s Institute of
Medical Science, Hyderabad, suggests that glucosamine, a substance found in cartilage, may offer even more relief
if it’s taken with methylsulfonylmethane (MSM), a sulphur thought to block inflammation.

Doctors put 118 people with osteoarthritis of the knee into four groups. Patients took glucosamine, MSM, both, or
a placebo for 12 weeks. The glucosamine and MSM cut pain and swelling on their own, but the combo was even

more effective.

While the study is intriguing, more research is needed, says American rheumatologist Daniel Furst, who’s
participating in the largest glucosamine trial to date (results are expected soon).

Doctors aren’t sure how either supplement works, but say they may help preserve cartilage.
What do most arthritis patients find relief in?

e Pain killers.

e Surgery.

e Glucosamine.

e Pain relief spray.
Correct Answer :-Glucosamine.

Topic:- General Knowledge

1)
Question Stimulus :-

Madhya Pradesh is the state by area in India. / aﬁ'th_cl » mﬁ, 'F[??-TFI%QT HRA PT MY
gl

Second largest / gIXT GER KK

Largest / 9 g8T
Third largest / CIGMEER CEL

Fourth largest / YT IR 931

Correct Answer :-Second largest / gHRT |q9d §37
2)
Question Stimulus :-

Alfred Park, the biggest park in Allahabad was renamed after freedom fighter ./ gClgldlq Cg

I 98 ABHS UTh BT ATH 9¢d B IgaadT 11 & 9 W) B fear |
e Chandra Shekhar Azad / W XIS
e Bhagat Singh / HITd fig

e Sardar Vallabhai Patel / U qIY W‘l{‘-ﬂg e



e Lala Lajpat Rai / T¢Il dTSTUd XM
Correct Answer :-Chandra Shekhar Azad / GGRRaY NI
3)

Question Stimulus :-

is a strait between Tamil Nadu and Sri Lanka. / . ?lﬁl?l:ﬂg Qa Nep1 &5 a‘ﬁw
SASHHH ¢l

e Bering Strait / afeT srasHEa S
e Palk Strait / T STASHTHE
o Strait of Gibraltar / NTSTeeR SlasHEAY
e Duncan Passage | P STad
Correct Answer :-Palk Strait / YT STAISH™HE]
4)
Question Stimulus :-

The state of Telangana was officially formed in ./ ATRBTRS TR W AT I FT T6H
# fopar |

e 2016

e 2015

e 2014

e 2011
Correct Answer :- 2014
S)
Question Stimulus :-

Which one of these dams is not built on Betwa? / g1 CIL R K CAR| T gief dda1 R q?f CEIRIRIE]] %?

Rajghat / ITSTUTC
Matatila / HTATSIT
Parichha / G8ST

e Rana Pratap Sagar Dam / ITOTT YT 9VR €Y

Correct Answer :-Rana Pratap Sagar Dam / IT0TT UdTq IR 97¢Y
6)

Question Stimulus :-



CANCELLED

Dr. B R Ambedkar was selected to the constituent assembly from which state in India? / 31, dt 3R rasHR

YRd & fhd 39 | Gfqur= 941 & fg g+ e &2

Maharashtra | HEIRTY

Madhya Pradesh / HAYSRT

West Bengal / Uf3H S

Uttar Pradesh / 37X WexT

Correct Answer :-West Bengal / Uf3y &

7)

Question Stimulus :-

Ujjain is located at the eastern bank of river. /3@7{, _ LK g '@TT‘E R fRa %I
e Son/HIH
e Narmadha / qﬁﬂT
e Tapti/ ardt
e Shipra/ o

Correct Answer :-Shipra / R

8)

Question Stimulus :-

Which Indian state is famous for sandal wood trees? / @I |T HIRd T I dgd & ﬂ’éﬁ F ﬁI'E m %?
e Rajasthan / ITSTRITT

e Uttar Pradesh / 3T% USXT
e Karnataka / Bic®
e Maharashtra / Wl'g
Correct Answer :-Karnataka / 1c®
9)
Question Stimulus :-
___is the state tree of Madhya Pradesh. / _m!m%!um T 98 %I
e Teak/&I®H
e Sal /9{Td

e Banyan / SRIIq



e Bamboo / 919
Correct Answer :-Banyan / R3¢
10)
Question Stimulus :-

How many Indian athletes participated in the 2016 Summer Paralympics held in Rio de Janeiro ? / fear fs

SHRE! § Smafora g1 ard AR WA, 2016 ¥ HIRA & fva= gyetel = W feram at?
e 16
e 17
e 19
o 23
Correct Answer :-19
11)
Question Stimulus :-

India is a peninsula because it is surrounded by water on sides. / HIRd Uh IR %, i e
3R Uit A iRy gom B

e Two/ 33[

e Three /4

e Four /dIR

e One /Udh
Correct Answer :-Three / 19
12)
Question Stimulus :-

In which state is the Sharavati Hydro Power Project Plant located? / e g o IRTAd! ﬁﬁﬁgﬂﬂ
ufvgterT U Ry 32

Maharashtra / Wl'g
Telangana State / ST I

Karnataka / HAlcH
Tamil Nadu / AfHEATg

Correct Answer :-Karnataka / IcP

13)

Question Stimulus :-



holds two Guinness records for receiving the maximum amount of rainfall in a single year and in a

single month, / F M R, TP & ¥ T4 U € A A auf Ft srftemaw arsn ure w31 & g &
firits Yl ol 21
e Cherrapunji / a?'l'q}_rﬁ
e Shillong / RRraiT
e Tura/d{rT
e Jowai/ \_rﬁa'l'é'
Correct Answer :-Cherrapunji / aﬂ'liﬁﬁ
14)
Question Stimulus :-

The Sanchi Stupa was originally commissioned by the emperor A1 LA G| PGES ¥ qYTe
GIRT I-1dTT T UT |

e Ashoka / 3RN®

e Rudradaman / ¥%GHA

e Chandra Gupta I / T[4l I

e Chandra Gupta II / d-&I[W 11
Correct Answer :-Ashoka / 3/RN®
15)

Question Stimulus :-

The sharing of waters of Cauvery river has been the source of a serious conflict between which of the

following two states?/ﬁﬁ%ﬁﬁm,mﬁﬁﬁﬁ?ﬁ%m@ﬁmwﬁ
PIROT IET 32

e Tamil Nadu and Karnataka / Gf@-ITg Ud ®Hlcd

« Tamil Nadu and Kerala / af4@qrg Td 33

o Kerala and Karnataka / &3¢ Ud ®-Icdh

e Kerala and Andhra Pradesh / W Qﬂ' 3y D%QT
Correct Answer :-Tamil Nadu and Karnataka / Gf0@-ITg Ud SHlc®
16)
Question Stimulus :-

To which country does Angelique Kerber the 2016 US Open Women’s singles title holder belong to? / Y@

31U 2016 BT Aigen Tova Reare $ fasiar, Taafe Sk foa <z 91 e 82

e Russia/ ™9



e Germany / STHAT

o Slovakia / SIQTIHAT

e None of the above /mﬁ ﬁ' ﬁ Eﬁ’&‘ :Iﬁ
Correct Answer :-Germany / s
17)
Question Stimulus :-

The Balimela Reservoir Project is located in which state of India? / SIfHar SRR qﬁ?ﬁTlF'lT, YRd &
fra Treu d Rya 32

Madhya Pradesh / HAYSRT

Maharashtra / HgRRTY

Gujarat / JoIRTd
Odisha / 3Nf37T

Correct Answer :-Odisha / Gﬁ%m

18)
Question Stimulus :-

Sandhya Agarwal is a former captain of Indian women’s team. / AT 3UATA, YR Afgar
& o yd w3

Hockey / B'\I'?ﬁ
Cricket / fopdre
Kabaddi / S
Tennis / ¢f-

Correct Answer :-Cricket / fopdpe

19)
Question Stimulus :-

Malwa Utsav is held in in Madhya Pradesh. / ATCTdT 399, HEH WS & H smatferd
fpar STar g1

Ujjain / S=I9
Bhopal / yurer
Gwalior / TTfRIR

Jabalpur / STdEYY



Correct Answer :-Ujjain / I=H

20)

Question Stimulus :-

Who is the CEO of Google? / T[IT¢T & ;ﬂ'«.{aﬁ P 2
e Larry Page /@ U

Sergey Brin / Tff fo

Sundar Pichai / W ﬁﬁg

Satya Nadella / T qrsen

Correct Answer :-Sundar Pichai / & ﬁﬁli
21)

Question Stimulus :-

Tipu Sultan Masjid is a famous mosque in . ?ﬁ'q\ﬁ?\'l'l_"[ 'FI'%IT:{, -3} U s afe
g

Durgapur / §Tﬁ'g?'
Kolkata / STAIBTT

Howrah / gTdST
Kalyani / SeaToll

Correct Answer :- Kolkata / IeiopTdl

22)
Question Stimulus :-

___is the only female Prime Minister of India to date. / HIXd P 3G TP DI THUTT Afgar gt
___®

Indira Gandhi / ST TTeht

Pratibha Patil / UfcrHT Urfee

Sheila Dikshit / X §fara

Meira Kumar / HIRT PHAR

Correct Answer :-Indira Gandhi / Eﬁ?T et
23)

Question Stimulus :-

was the first female Chief minister of Delhi. / f&eelt Y wyw afgen 'ﬂ'@mﬁ’f 4t



o Sheila Dikshit / e ifara

e Sushma Swaraj / JUHT ¥GITSl

e Kiran Bedi / f01 9t

e Sonia Gandhi / SYfrar i<
Correct Answer :- Sushma Swaraj / JUHT ¥AITS
24)
Question Stimulus :-

When did the Securities and Exchange Board of India come into existence? / YR Uﬁ'ﬁlﬁf 3R fafra

dts ®9 faa A man?
e 1988
e 1992
e 1994
e 1996
Correct Answer :-1988
25)
Question Stimulus :-

Chandigarh is the capital of two states namely and . /ﬂ"@ﬂ"’l’c}', a I} Gl'*‘ﬁ?‘[ Td
F1 IS 7

e Punjab, Uttarakhand / Uolld, SIRTES

e Haryana, Uttarakhand / Gﬁ'qTU'IT, JWES

e Punjab, Haryana / UGITd, gheamon

« Haryana, Rajasthan / ST, IS
Correct Answer :- Punjab, Haryana / USITq, gRaTom

Topic:- General Computer Knowledge

1)

Question Stimulus :-

Which command is used to determine if an IP access list is enabled on a particular interface? /'CI'% U

1P TR fore fafdre gextra W B ot Fafvor & e v wais &1 Swa faan wimar 32
o show access-lists / 21T Torag-fore®
e show interface / XM SEIBH
e show ip interface / T ip $EIHY



e show interface access-lists / 1T SETH TFAT -m

Correct Answer :-show ip interface / Bl ip EETW

2)

Question Stimulus :-

Why does the data communication industry use the layered OSI reference model?

1.

I

It divides the network communication process into smaller and simpler components, thus
aiding component development, design. and troubleshooting,

It enables equipment from different vendors to use the same electronic components, thus
saving research and development funds.

1t supports the evolution of multiple competing standards and thus provides business
opportunities for equipment manufacturers.

It encourages industry standardization by defining what functions occurat each layer of

the model. |

ST FAAAH U S5HCT o as OS] THIH &1 3TN &1 FLdl 67

b

. TE FCdth S Y T I BIC a0 TN HaTal H [defed Pl ¢, A HHAeC

SaerTaie. BATse der gaafea & graar ar g

O AT Seiahclicdeh hadlacd ol 394E e & [elQ [Talas a5 & Sfoddsic &l gaTd
AT 6. Fas ArEa § o g e AR & sag grdr gl

qE FHoldh UTaaaEl #ATdd] & shidlch AT & Tedd b, [oash Aedd ¥ sfFausie 3a9iga!
& fore garaaf@s 3aut ve Far |

5 HISH & Fodish HAX I Tehial & THER0T ¥ §T IeA9T & HIeAehIHI0T T UIdaTpd Hdl o

1on|y/a’_d?[1
1 and 4/13ﬁ?4

2 and 3/2 3R 3
30nly/3’7ﬁ?|'3

Correct Answer :-1 and 4/1 Gﬁ? 4

3)

Question Stimulus :-

Which layers of the OSI model are managed by a network protocol such as Microsoft NetBEUI? / OSI HISH @t

Gack:| ﬁ?ﬁ, Microsoft NetBEUI & 3 A Welbid GRT US| 31 STt %?



network and transport / He¢dd aT ¢iAUIE
physical and data link / ftrfoTea aur 31 e
transport and session /g'mqi-é'am R

media access control and logical link control / fif&aT TN et ayT diforwd fd®

Correct Answer :-network and transport / 9¢a® adT ¢iyuIc

4)
Question Stimulus :-

In MS Word, “Ctrl + Up Arrow” is used to ./ MS Word & “Ctrl + Up Arrow” T SUIRT
fopar wITan 8 -

* Moves the cursor one page up / AR P Udh US S W§'i|ﬁ & ﬁl'q

e Moves the cursor one line up / U Bl U dlgd HUR Tlg?lﬁ & ﬁl’({

® Moves the cursor one screen up / AR B Udh THI SR tlgilﬁ * ﬁnz

e Moves the cursor one paragraph up | R B U WRETE SHW QE?Iﬁ & ﬁl'l'{
Correct Answer :-Moves the cursor one paragraph up / HUX DI Tdh IRTTE SHW qgirﬁ & ﬁl"’{
S)
Question Stimulus :-

In Linux, what command is used to display the characteristics of a process?/

e #, Ui & IaeRead @ v v & e fora wwis &1 Sua fasar sirar g2
e Au
e Ps
e Du
e Pid
Correct Answer :-Ps
6)
Question Stimulus :-
In MS Word, If you press PgUp Key from the keyboard. It ./ MS Word ¥ Tf 3 PgUp Key GaTd & a1 4 -

Moves the cursor one line up / TR &) TH AT HUR UgdT ¢dT

Moves the cursor one screen up /Waﬁ@wﬂ-—rwmém%
Moves the cursor one page up/WﬁWﬁﬁwqﬁ?ﬂaﬂT%

Moves the cursor one paragraph up / R &I Th WRRTE HW U 3T &



Correct Answer :-Moves the cursor one screen up | HUR P wwﬂqw tIEiIT aT-IT %
7)
Question Stimulus :-

Which of the following is the correct regarding meta tag in HTML?/ HTML# AT TP
e & f= & & ot a1 fawey wdt @2

<meta>...</meta>
smetanama="" f»

<metadata= ... </metadata>

<metadataname="" />

zmetanama="" />
Correct Answer :-

8)
Question Stimulus :-

In MS Excel 2007, when the formula bar is active, you can see ./ MS Excel 2007 H, ST WI'{?HEI'I'\’

ufded g, a9 3my T TP B

The edit formula button / T8¢ ﬁ'ﬂ?ﬂ dcH

The cancel button /%ﬁ:ﬁ[aﬁ

The enter button / ¥eX §¢-
All of the above / SURTad Tt

Correct Answer :-All of the above / JURTad T

9)
Question Stimulus :-

Which of the following is a correct format of Email address? / %-ﬁ?f Qg-\q FIfFEE IS T -\qﬁ U=q %?

e name@website@info

name@website.com
o www.nameofebsite.com

name.website.com

Correct Answer :-name@website.com

10)



Question Stimulus :-

In MS-DOS, which command displays the directory list including files in tree

structure? / Ms-Dos ¥, ®I1 Al FHTS & TRR A wIsd fene it srsvae fEwa ovdl 82
o Dir/s/f
o Tree/f
o Tree/s/f
e Dir/f
Correct Answer :-Tree/f
11)
Question Stimulus :-
Where is a hub specified in the OSI model? / OSI Aisd # g9 Hgi W e gara?
e Session Iayer/ﬁ'&'ﬁﬁ'ﬂ?
« Physical layer / ftrforea daz
o Data Link Iayer/@ETﬁﬁ?a'lT\'
e Application Iayer/Q‘Gﬂﬂ?ﬂﬂaﬂ'\'
Correct Answer :-Physical layer / frforea auR
12)

Question Stimulus :-

Which of the following is the correct HTML tag to make a text italic? / TR Bl E%I%H? TH & ﬁl’Q f=da
T FE HTML 7 32

e <>

e <jl>

o <jtl>

e <ijtalic>
Correct Answer :-<i>
13)
Question Stimulus :-

In MS-DOS, which command should be used to display‘all files yvithin the specified
subordinate directory of the subdirectory? / MS-DOS ﬁ, mmﬁmﬂm
ot fifdte Fa3iifEae srsiael ¥ Tuva wrsw fewa w1 & fore fovar s anfyw?

e Dir\pathname

e Dir\pathname\pathname



e Dir/ch
e Dir\pathname\filename
Correct Answer :-Dir\pathname\pathname
14)
Question Stimulus :-
In HTML how many headings are defined? / HTML ﬁ', fpaq sfew ufvurfa %'?
e <hl>to <h4>
e <h1> to <h5>
e <hl>to <h6>
e <hl>to <h9>
Correct Answer :-<h1> to <h6>
15)
Question Stimulus :-

In MS-Word 2007, what are inserted as cross-reference in Word? / 78 H BBy &

fR1e w1 50 fpan et 22
Placeholders /lﬂﬂﬁ?&!ﬁ

Bookmarks /W‘Iﬂ&‘f
Objects / isaided

Word fields / 98 BTged

Correct Answer :-Word fields / 98 BIged
16)

Question Stimulus :-

In MS Excel worksheet, you can select ./ In MS Excel TP ﬁ:, 3T AT B Gbd % -
e The entire worksheet / @ CERI
e Rows /Il
e Columns / PTART
e All of the above / JURIad JHt
Correct Answer :-All of the above / SURTa Tt
17)

Question Stimulus :-



What is the purpose of Grouping / Ungrouping cells in MS Excel (ver.2007 onwards)?

/ MS Excel (@914 2007 3R 3TJ 3 arel) &, YR/ SAgfinT &1 Fa1 S8=4 giat 82

» Tie the cells together as a single table of data which can be copied to

other worksheets / 300 $ 221 &1 RITTA ¢90 $ FU § TP ATY HI5 HIdl & o
gt adhiicd | STl fosar o9&

» Tie a range of cells together so that they can be expanded or collapsed /

AT DI VS B TP TTY e HIdT 8 o1 3= fawariyd a1 Rt o 9%
« Create a combination sort and filter / BITRATA Tl a1 fbeer fbue BT
 None of the abovelmﬂﬁﬁﬁaﬁgqﬁ

Correct Answer :-Tie a range of cells together so that they can be expanded or

collapsed / A0 B IS B TP 1Y Jdg BT ¢ orad I8 faariyd a1 RiprsT o 9
18)

Question Stimulus :-

In Linux, which of the following is not a communication command? | o ff, A da @ U
PP FHIS 8l 32
e Grep
e Mail
o Mesg
* write
Correct Answer :-Grep
19)

Question Stimulus :-

When you link data maintained in an excel workbook to a word document / STd 3Tq Eﬂ'\ﬁﬁ W # AR fean
a1 3eT, 98 TagHe I i Fa €, @ -

e The word document cannot be edit / 98 saq:ﬁ'«: &I E%E' qﬁ foraT I Apdr %

e The word document contains a reference to the original source application / s :ﬂ{ﬂ? | Hd ard

TSR BT YB3 il 3
e The word document must contain a hyperlink / CEy Gﬂ'q:ﬂf s | ?’IB'CR'I%H? EﬁT-IT ?IT%'E{
¢ The word document contains a copy of the actual data /98 ?ﬁqﬁ? ¥ aRAfd® STeT Bt B ﬁ?ﬁ %

Correct Answer :-The word document contains a reference to the original source application /g8 3aqﬁ'c' s i

T W T BRI BT YHIE T @
20)

Question Stimulus :-



Which of the following is correct regarding the Background of slides in PPT? / PPT

TS & seuSs & ded A T A A w gt @2

« Background color of slides can be change / T3SH & IHUTSS HaR HI Ufvafdd fear
ST qHdT §

. Pictur%e can be set as Slide Background /Wﬁmma?ﬂﬁﬁ?mm
qhdl

e Texture can be set as Slide Background /Wﬁ%éﬂﬁg%wﬁ e forar o
Tq&HdT 8

« All of the Above / SURTed Tl
Correct Answer :-All of the Above / SWRIad dat
21)
Question Stimulus :-

Which of the following is not valid version of MS Office? / f T & § B9 Ms Office BT AT

a9l el 82
e Office XP
e Office Vista
o Office 2007
o Office 2013
Correct Answer :-Office Vista
22)
Question Stimulus :-

When installing PCI NICS you can check the IRQ availability by looking at / PCI NICS S¥CTd Pd
UG 3TY IRQ IUART BT S ............. R AIGHI PR ghd ¢ |

« Dip switches / f&u fRagw

e CONFIG.SYS / CONFIG.SYS

e Jumper settings/Wﬁﬁ"T

« Motherboard BIOS / HEIdIS BIOS
Correct Answer :-Motherboard BIOS / HeRdlS BIOS
23)
Question Stimulus :-

How to change the order of Slides in MS Powerpoint 2007? / MS Powerpoint 2007
H, W58 & PH B! A dedT o1dT 872



On Slide Sorter View, click on the Soft Slides / Slide Sorter View & Soft Slides UR fT® &b

On Slide Sorter View, click on the slide and drag to required position / Slide Sorter View & slide U¥

feae au gifea fRufa 96 37T F3F

On Slide Thumbnail view, click on the slide and drag to required position

/ Slide Thumbnail view ¥ slide R faa® qu1 gifeq R 7@ ST S

Slides order cannot be changed once it created / ST &1 hH TH IR d-1¢
W1 & 91 9l gl ol 9Pdl 8

Correct Answer :-On Slide Sorter View, click on the slide and drag to required position / Slide Sorter

View & slide TR fda® au1 aifdd fRufa 9% $71 3%
24)

Question Stimulus :-

Addressing structure . /Eéﬁi’lTETER I

o defines the fundamental method of determining effective operand addresses / YUTET TS

Tgaw & frufeor 1 e faft ) afvwifa s g

e are variations in the use of fundamental addressing structures, or some
associated actions whiqh are re:Ia.ted to adqressiqg. /W‘I’ﬁm@mm
U1 PS WG Ul & T 4 fafderany € oif i vgRivT & wWafta g1d €

» performs indicated operations on two fast registers of the machine and

leave the result in one of the registers. / H=H & gl du IR W gSdhes
TR FIA & TUT TP IR W IR Bigd &

« all of the above / IWiad It

Correct Answer :-defines the fundamental method of determining effective operand addresses / YHTaT

3ifa¥s T3 & Frefvor ot qaya fafy o ulvwfia swar?
25)
Question Stimulus :-

In computing terms, what is LIFO an acronym of? / Eb_m]ﬁ'ﬂ & E'Ffﬁ, LIFO foraer wféra wu % -

« LOOP Into FOR Output / U §¢ BIR 3HT3cYC
e Line Input File Output / 1§ §1YC WIgd MT3CYC
e Log-In-Fail-Out / HT‘T—%-‘-I—W—GHB'E
e Last-In-First-Out / W—E—W-W
Correct Answer :-Last-In-First-Out / W—E‘T-W-m

Topic:- General Logical Reasoning

)

Question Stimulus :-



Jay started a business investing Rs. 12,000. After four months, Ajay joined him with a capital of Rs. 16,000. At
the end of the year, they made a profit of Rs. 5,100. What should Ajay's share be in the venture? / ST 3
12,000 f1a=T H UH HIETY IR= f6AT| AR TEHI & TG, 16,0008 Pt AT & ATY 3CTT IqD ATY
T 8 AT 99 & 3fd |, 3% 5,100 BT ATH §HT| STH ST BT U T BT A1(R0?

* Rs. 2,400 / ¥.2,400

* Rs. 3,600 / . 3,600

e Rs. 2,700 / ¥.2,700

¢ Rs. 3,200 / ¥. 3,200
Correct Answer :-Rs. 2,400 / ¥*. 2,400
2)
Question Stimulus :-

If the largest 3 digit number is subtracted from smallest 5 digit number, then the balance is / uﬁ 3 3(® Bl

T T S P, 5 3] P TGY BIET W& H °TAT S f W gh -
e 9,000
e 901
e 1
e 9,001
Correct Answer :-9,001
3)
Question Stimulus :-

If the following two squares shown below overlap, which one of the

followin g options is formed? / Zﬂ:c'[ G ﬁ'@'ﬁ’:f Ej g aT gar Hidemog
B O T & & &9 @1 [weq a=em

L




sasssans

TYYYY Yy

hddadine

teivlw

sassnnss

Correct Answer :-
4)
Question Stimulus :-

Arpit can make a table in three days, while his friend, Mukul, can make it in six days. If Arpit and Mukul work

together, both of them can make the table in;/aﬁawﬁﬁ?ﬂqﬁﬁﬁwmé,m%maw,
%W, Gja%‘t%ﬁﬂ‘fﬁwm%luﬁaﬁa&ﬁ?mwuﬁmﬁ,a’r%aﬁmﬁﬁﬁﬁﬁﬁ
L) :

e 3days/3fed

e 2days/2fea

o 1days/1 ﬁ?’

e 4days /4 ﬁ'-‘-[
Correct Answer :-2 days /2 ﬁT-T
S)
Question Stimulus :-

If 15t of January, 2002 is Tuesday, then 3" of February will be ./ 3R liﬁ\_rl""l'a'ﬁ, 2002 ﬁmw% GEJ

3 el B

e Friday / [$hdI¥
e Saturday / IR CIRS



e Sunday / Ifaar
e Monday / THaR
Correct Answer :-Sunday / Ifaar
6)
Question Stimulus :-
17x9)-(100x16)/5+(9x7)/9+(520/13)=?
o -120
e -130
e -140
e -150
Correct Answer :--120
7)
Question Stimulus :-

The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: / = a
TS 4EaT H &R SR HEI13i HT HH SR 7| Tad Ao Ugan-1a:
i. fgfg6b7fegtéy ii. fgfg6b7fegt6y iii. fgfgob7gfegt6y iv. fgfg6b7fegt6y
o i
o ii
o iii
* iv
Correct Answer :-iii
8)
Question Stimulus :-

A person buys goods for Rs. 6,000. He gets a discount of 10 % and pays sales tax 6 %. Find the amount he have to

pay for the goods? / TP T 6,000 ¥= BT AT WG 3| S 10% e Aadl 8 iR 6% fpI s a1 8139
wTd ¥ o fpat 3w 3 gnfl

Rs. 5,700 / 5,700 ¥=49Q

Rs. 5,740 / 5,740 ¥4

Rs. 5,760 / 5,760 ¥=UUQ

Rs. 5,800 / 5,800 YT

Correct Answer :-Rs. 5,760 / 5,760 ¥UU



9)
Question Stimulus :-

In the sequence shown below, which figure comes next?/ == feErr
H #, Il I Fid T 4

PSS

DD

Correct Answer :-
10)
Question Stimulus :-
Complete the series choosing the missing number: / Yl AT JAHR T Eg| I PIforT:
1,8,27,64,
e 125

e 120



e 130

e 135
Correct Answer :-125
11)
Question Stimulus :-

The average age of five girls is 11. The oldest among them is 15 years old. What is the average age of the others? /

U asfeal B 3iTd Mg 11 81 379 A T 71 Y 3y 15 9 g1 F1fpal &1 oiwa w7 82
. 12
. 4
e 10
.9
Correct Answer :-10
12)

Question Stimulus :-

If PLASTIC is coded CITSALP, then how is REVIVER coded? / Of& PLASTIC &Y CITSALP @ ®ifsd
far ST 8, Y REVIVER &1 $1 hifed far s

REVIVER

RIVER

VIRVIER

VERVIER

Correct Answer :-REVIVER
13)

Question Stimulus :-

Simplify: / R4 PIfoC:

[ ]
N



Correct Answer :-1
14)
Question Stimulus :-

The series given below contains a sequence of numbers. Identify the incorrect combination: EiEk] n‘cj

el ¥ SRS BT o UM § 1 Tad HAToI UgdI-a:
216, 345, 512, 729, 1000
e 216
e 512
o 345
e 1000
Correct Answer :-345
15)
Question Stimulus :-

If MATHS is coded LZSGR, then how is GEOGRAPHY coded? / Af& MATHS ®Y LzsGr | Bifsd forar &iTdr g, at
GEOGRAPHY B B3 difed fopar wravm?

e FDNFSZOGX

e FDNFQZOGX

e FDPFQZOGX

e FDNFQZQGX
Correct Answer :-FDNFQZOGX
16)

Question Stimulus :-

Complete the series choosing the missing letter/s: / Tl &R JADY m G| T aﬁﬁnz:
b__bbbab__ba__ b
e a,b,b
® a,ab
e ab,a
e b, a
Correct Answer :-a, b, b
17)

Question Stimulus :-



Find the odd one out: / faud 1 FifemE:
e Elephants and Trumpet / GTQﬁ Gﬁ? ﬁlﬂ'l?—:_'ﬂ
¢ Horses and Neigh /‘Eﬁg 3R %?F&'T-IFIT
e Camels and Roar / &:¢ 3R qelsHl
e Dogs and Bark/@ﬁ 3R W
Correct Answer :-Camels and Roar / 3¢ 3iI% qelsHl
18)
Question Stimulus :-

At what price an article should be marked above the cost price of Rs. 200, so that the
seller gains 20 % after giving a discount of 4 %. / fog A R TH a9 P B 200 & DI
ANTd & HWR FafRa o s aftd e fasear +1 4% @e 33 & 18 20% a1y uIdd g1

Rs. 125 / 125 ¥UY

Rs. 175 /175 UQ

Rs. 250 / 250 ¥UT

Rs. 300 / 300 3>UU

Correct Answer :-Rs. 250 / 250 3qU
19)

Question Stimulus :-

When Sarthak looked at his watch, it showed the time as 4:30. If the minutes hand points towards east, then
towards which direction will the hours hand point? / STd 1 3 U=t ﬂ?’[ i aET dd 'Elﬁ + THY 4:30
fezarar| R fire &t g gd 3 iR Wdbd wedt 8, af vel 3t g3 oy fazm &t ik Wdba st

e north / 3T}

* north —east / Bﬂ?—q\ff

e south—east/ HféI'UT-Qﬁ

e north — west / SIR-UFHH
Correct Answer :-north — east /W-‘Iﬁ
20)

Question Stimulus :-

In the word 'BILLIONAIRE' the letters are reversed and then each letter is replaced by the letter succeeding it in
the alphabet series. What will be the 10t alphabet in the new word? / ' BILLIONAIRE ' XTsg H T® 31&R B

&R YRadT H ITP WRadr &R A ufawuiid w< faar war ufkafda 2reg & 10t 31&R ST A1 2

e K



M

o J

e C
Correct Answer :-J
21)
Question Stimulus :-
(12x4)+(3x8)-(13x3)+(156/4)="?

e 72

e 36

e 39

e 62
Correct Answer :-72
22)

Question Stimulus :-

Evaluate: / U Terd m'({:

(0.00032) A (3/5).

My |

[
b |k

h | b

1

Correct Answer :-E

23)

Question Stimulus :-

Average of 19, 22, 35, 39, and 40 is / 19, 22, 35, 39 3{R 40 &7 3Hd g
e 31

e 35



e 39

o 22
Correct Answer :-31
24)
Question Stimulus :-

In a certain code language, veny heny steny means get out man; steny shomy shelt
means out of danger. Which is the word for steny in that code language? / fodt A wis
HTHT ﬁ, veny heny steny &1 Hddd % get out man; steny shomy shelt &1 Hddd % out of
danger. 39 H18 YNNI # steny & o1 =T Ot 82

e danger

* man

* out

e of
Correct Answer :-out
25)
Question Stimulus :-

The ages of Bhoomika and Spoorthy are in the ratio of 5 : 2. If the difference of their ages is 36 years, then what

was the ratio of their ages 13 years ago?/@waﬁ?qﬁaﬁ\?’n‘gs : 2a?a|au1?rﬁ%| tri%a‘—ﬁﬁanga?ﬁa?ﬂ
3R 36 919 B, < 13 99 gd 391 3y frw srgura # i

e 47:11

e 48:12

e 40:41

* None of the above / Gwﬁaaﬁﬁﬁéqﬁ
Correct Answer :-47 : 11

Topic:- General Management

1)
Question Stimulus :-

Which of the following functions of HRM includes identifying future human resource requirements and
forecasting personnel needs? / AT TATYH YU BT faddsaar "Td, Uiy Aa SATY
SATIRGHATSN P UG 3R BT P Fewdl & q@aigar i ARIferd Hear a2

e Organising / IIEE
Planning / e
Directing / ﬁ%ﬂq

Staffing / PTIH® AT



Correct Answer :-Planning / e
2)
Question Stimulus :-

In the trial balance if the wages are clubbed with salaries and is shown as ‘salaries and wages’, then it

is recorded in . /WﬁWW@WWﬁ,ﬁWﬁW%WqWWW
3R 3 A 3R HeIgil’ & U ¥ f@mar 9, ai a8 # Srfirafae gidi 81

e Trading account / TUR AT

« Profit and Loss account / @TH 3¥ I o

e Balance Sheet / ¢ U

e Proprietor account / ST ST
Correct Answer :-Profit and Loss account / ATH Gﬁ? ETﬁ ﬁm
3)
Question Stimulus :-

In which of these types of simulation exercises are trainees divided into different teams and asked to play roles

of competing firms in a simulated market? /E_Fl'el'\ﬁ STIHIUT HW%WW‘#, u&r@uﬁaﬁﬁf‘waﬁ
# faurfra forar wirar @ ok ue et 9ok o ufavu st wat 3t yftre frum & werwmar @2

o Interview method / AT&THR faftr
Business games / ATUIR qd
Incidental method / 3ITH T faftr
Basket method / ST} faftr

Correct Answer :-Business games / TUIR Qqd

4)
Question Stimulus :-

What is reinforcement theory based on? / Wmﬁ?ﬂv_vf fora u= snerfya %?

e Overseas assignment / ﬁ%&’ﬁ Can]

e Incompatibility between behaviour / IdgIR & o i

e Learning theory and works of Skinner / 3T ﬁ:l?,{l_d IR PR BT ﬁl@*_\'[

e Desired voluntary behaviour / gifsd Qe saagR
Correct Answer :-Learning theory and works of Skinner / 3ferm fagia 3R PR &1 i<
S)

Question Stimulus :-



Balance sheet is based on the accounting equation L/ gAad U4, [ECIGE WUT,
TR TYTiRa g1

Assets=Liabilities + capital / SNEUfxT = ¢-TgIial + Usit

Assets + Liabilities =Capital / gfEafR + deriai = q\Trﬁ

Assets — Liabilities = Capital / gfveufx - SAereal = Trﬁ

Assets + Capital =Liabilities / gfeafy + 'g\\_rﬁ = a:la'lﬁ'!ﬁ

Correct Answer :-Assets=Liabilities + capital / gfyaufRy = aﬂﬂ'lﬁ'tﬁ + q\\_:ﬁ

6)

Question Stimulus :-

Which of the following concepts is defined as the process of choosing the most suitable candidate for a job

from among the available candidates? / ﬁyﬁ@raﬁmﬂ SIAYIRTT, WW %ﬁmmwﬂaﬂﬂ’rﬁ@r
Y IuYad SHIGaR &t g4 ot ufehar & wud ufvutia 32

e Selection / 9

e Recruitment / ydf

e Placement / RIT

e Evaluation / W
Correct Answer :-Selection / 91
7)
Question Stimulus :-

In the following method of investment criteria which method falls under Discounted Cash Flow

Crite%a?/mm%mﬁﬁﬁﬁﬂwmwmmm%m
ST 3?

e Accounted rate of return /ﬁwuﬁwa

e Payback period / YITdTH qrudt srafer

e Internal rate of return / Wuﬁwa&r

o External rate of return / e @1 HI?'\FT %3
Correct Answer :-Internal rate of return / 3fidafye® uﬁ'fh_da?'
8)
Question Stimulus :-

Which of the following is not a barrier to seamless communication? / ﬁ'H =k | CAE| A1 '\‘ﬁ'ﬂqﬁ:{ JAR & f%I'E

UK+
e Faulty translations / a"TlIUf Sfdlq



* Proper planning / S g

e Distorted communication / ﬁﬁ AR

e Badly expressed message / Qﬁ AYE I T ™
Correct Answer :-Proper planning / S g
9)
Question Stimulus :-

Which of the following is not the objective of Trial balance / faddeN AT, cldd CLL] (Pl ﬁl?l'l—"l) Cdl
I T &2

Check the arithmetica”l accuracy of the accounting entries / s ufafsai ot siwforta
|l B SiTd AT

Basis for financial statement / fa<1g fqaRur & ﬁl"'{ STYR JATAT

Summarize ledger / WTdTl a%’t Ca| ml'l?l' DIHAT
Assess the profitability of business / ATUIR & AT BT ATHAT HIAT

Correct Answer :-Assess the profitability of business / TJIR & ATYH BT TH AT HIAT

10)
Question Stimulus :-

A company decides to declare INR 200000 as cash dividend to shareholders. It will be reflected in the
cash flow statement as a cash outflow under activities. / b HU A WRYRSDI B
AT & &Y A 753, 200000 FICARA P PIvigemmag . Feafaws
THd) gfeafe & ¥0 H T yarg faavur & uRafém g

Operating activities / ufe=me wfafaferay

¢ Financing activities / foita wifafaferay

Investing activities / fra=ht nfafaferay

Accounting activities / s fafaferay

Correct Answer :-Financing activities / fa<ig wifafaferat

11)

Question Stimulus :-

Which of the following is a desired future state that the organization attempts to reach? / faaa

P I T gifed ufasr st 3 forT 9 ugaq & e Wvre, wary sa1 32
e Deadline / THIIAHAT

e Goal / 1&g



e Long-term Plan / muﬁw
e Task / Capi

Correct Answer :-Goal / d&d

12)

Question Stimulus :-

In which of these employee stock plans, the company grants an option to its employees to acquire

shares at a future date? /ﬁﬁﬁmmﬁwmﬁ,ﬁmﬁﬁﬁwmﬁwaﬂ
fafy ) AR A =1 fadwea ue™ w82

Stock appreciation right / WW@ SfUPR

Employee stock purchase plan / FUAR! AR HY FioT

Employee stock option scheme / FHARY Wid faweq srftraysr

Premium price options / it pe Hea faweu

Correct Answer :-Employee stock option scheme / FHARY Wie fawey srftraysHr

13)

Question Stimulus :-
Middle level managers will be concerned with / HE &I} & YD, m IR A Rifaa _&;1'?[
e Ultimate objectives / 3ifaw 3%'581-1
 Divisional Objectives / PRlip) 3%@
o National objectives / TI'@TI' G%Q'Cﬁ
o Strategic objectives / IS Gm
Correct Answer :-Divisional Objectives / pRUinf 3%@
14)
Question Stimulus :-
Debt is a cheaper source of funds because / BUI, At =1 Th Il o % RN fp:

Owners of the business expect a low rate of return / STUR &1 ATfer®, =1 ufawd &3 @t Iwfie
Hedr gl

Interest paid on loans is treated as an expense and hence it reduces the taxable income / BHUN R

TSl BT YA, T T & U H T o141 8 Td ST I I 3 B HH B ¢l ¢ |

Both A and B/ A T4 B gl

None of the above / E:I'ef I aﬁé T'I?’f



Correct Answer :-Interest paid on loans is treated as an expense and hence it reduces the taxable
income / U UR TS BT YA, TH T & =Y § T 14T 3 Td FIE TE HIANYG 3 B HH
PR QAT G|

15)

Question Stimulus :-

When the owner of the business withdraws cash / goods from business for his personal use, it is termed

as / ST9 SATYR BT AT, 3+ foh 7ahT & e samuR & «9/uma 3t fAeTaar g, s ded @
« Drawings / 3TgRUI
e Capital / Joil
« Cash outflow / ¢ qfgdig
e Depreciation / Jeagd

Correct Answer :-Drawings / 3TgRUl
16)

Question Stimulus :-

The buying process starts when | WGE R Bt ufthar TR= HSICIE
oid

The buyer sees an advertisement for the product/service with good recall / 33 TG & ATY

IdTe / a1 ¥ fore ves fagu &) @deeR a@ar |

A salesperson convinces the buyer of the advantages of the product/service / ﬁﬁwrr, Jdlq/

a1 & ATHT A WGGR B el B AqT 2|

The buyer recognizes the need for the product/service / WR, STG/AdT & ﬁl"! Sed Bl
Ugd aaT g

The seller offers a discount / fohdT, ge a1 1

Correct Answer :-The buyer recognizes the need for the product/service / E’\ﬁm, SUTG/AdT &

I Seva &1 ygAE AT 3|
17)
Question Stimulus :-

Which of the following is the trait of leaders who build trust in the relationship between themselves and followers

by being truthful and non-deceitful? / Eﬁﬁﬁ‘[ﬁﬁ\?ﬁ?ﬁm%ﬁﬁmﬁ 3R TR- 4TS TP
ITH 3R 3% SrguThra) & = Hedl # fyyrg &1 et st 21

e Drive / T

e Honesty and Integrity / gﬂ'ﬁ—cﬂﬂ 3T geafAmT
o Self-confidence / 3T 1K



e Desire to lead / ﬁﬂﬁ A B 3
Correct Answer :-Honesty and Integrity / '&FII'HGTﬁ 3R Wﬁm
18)
Question Stimulus :-
What are the major components of a CPU? / h ;ﬁTﬂqﬁ? Yqd Ycdh T g2
Register Set, Control Unit, Auxiliary Memory / IR ﬁf, IBUE LI Wl'sc, LR Ed AF
Register Set, Control Unit, Memory Unit / IR a?, IBUE LI ng, AR T{&E’

Memory Unit, Arithmetic Logic Unit, Auxiliary Memory / AARY qj?re, srfafes wifore q:ﬁl?,
HETP HHRY

Control Unit, Register Set, Arithmetic Logic Unit / IBUE LI ng, IR ﬁf, Jfafes aifore

Correct Answer :-Control Unit, Register Set, Arithmetic Logic Unit / IEUELY] Wl'sc, IR @E’,

rfifew qifore gfte

19)

Question Stimulus :-

Bad debts are recovered from a client. It will be ./ Uh YTgh T 3rned BT (a—é'»' @»E’) 9l T 98

e Deducted from debtors in the balance sheet / ¢ UA H IR | Ferd!
e Added to debtors in the balance sheet / J¢I- UA o Wlﬁ 3| Fﬁ@'FIT
e Credited to P & L a/c/ P & L &1 H sfse foar mar
* Will be entered as such in Balance sheet / ¢TI Ud H ERUIGERE I ETrf fear ST
Correct Answer :-Credited to P & L a/c/ P & L &aT H thf&e forar mar
20)
Question Stimulus :-
Which of the following is not true? / ra A A P AT HYT I qﬁ %
e Bond has a face value /ﬁmwmqmaﬂ%

e The bond is premium if its price is less than face value / s Th e %, TT% UDT HeY,
3ifrd gou | FH 1|

o Bond is discount if the price is less than face value / 915 T F< %’, afe gadT e, 3ifera HeY
Gz R

¢ Premium or discount on a bond is the difference between determined price and its face value. /

% dis W ge a1 Mgy, saa Ruffya $iva iR siferd gea & i &1 iar a3



Correct Answer :-The bond is premium if its price is less than face value / §7<8 U it e %’, gfe
9D 4o, 3ifhd gea A U B

21)
Question Stimulus :-

Financial accounts are prepared for the transactions happening within a period of time

D A F <R I 919 A-Ted & forg faita Wrd R frg = §

6 months / 6 HIg

3 Months / 3 Hlg

12 Months /12 HIg

8 Months / 8 HIg

Correct Answer :-12 Months /12 HIg
22)
Question Stimulus :-

Which approach stipulates that material should arrive just as and when they are needed? / CaEk:] WUT

ey Hear g {6 org ©u A o o9 araht ot sraxgsarl g, I 99 98 99 3 S S Anfga
e JIT (Just in time) system / 9¥.318.<} (& GHY UR) WomTeht
o Kanban /B9
e Distribution Logistics / faa=or §UR
e EOQ/3.3M.T
Correct Answer :-JIT (Just in time) system / ﬁ.srré.é’r (ﬂ?’f IHY UR) YU
23)
Question Stimulus :-

What are the three main types of authority in an organization? / TS A UIfUSHI0r & I HEq
TR P A B2

Line, Advisory and Staff / €S, HATEPR 3R WTTH

Line, Staff and Service / dIg-, ICTH 3R Aar
Line, Control and Functional / ¢Ig, IGLEL| GﬁT m
Line, Staff and Functional / €IS, TP 3R USTITHD

Correct Answer :-Line, Staff and Functional / €Ig-, ¥<TP 3R ypaiHS
24)

Question Stimulus :-



The capital invested in total current assets of the business concern is known as / ATH DY P I

ufiufe & o e & Y § ST 1T g
Gross Working Capital / b d Praxiia qj'iﬂ

Net Working Capital / faa srd=ita Q§ﬁ

Permanent Working Capital / T Hrixfa qyﬁ

e Semi Variable Working Capital / 31 f-ufvadf srd=hia QFﬂ

Correct Answer :-Gross Working Capital / bl CIURI] gront

25)
Question Stimulus :-

Which approach contended that the market value of the firm is not at all affected by the capital structure? /

m?ﬁwmﬁﬁm%wmﬁwqu@,@ﬂmﬁﬁmmﬁmqﬁ
Hal gl

e Net income approach / o sma efd®iur
e Net operating income approach / frae waTeH g ey @i
e Traditional approach / IRURRTd Hicau

« MM approach / THTH Efp® 10T

Correct Answer :-Net operating income approach / o waTeH sma ey @i



